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RSA encryption/decryption method
Done \95 )

1. Choose primes p,q (we want p and g to be
more than 100 digits long).

2. Compute n = pq
3. Compute ¢(n) = (p—1)(g—1)
4. Choose e relatively prime to (p-1)(g-1)

5. Solve e- 2z =1 mod ¢(n). Call the solution
d.

6. Publish n, e, keep everything else secret.
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Encryption of P X

Compute C' = K° mod n

Decryption of C

Receive C = R¢ compute C¢ = g¢d = Frmod n
ed= 14k ¢ (n) therefore

Fed = Ritko = H- (ﬁcb(n))k = Pfmod n

by Euler’'s theorem .
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whet 1§ ged (M, N> 1 7 oo
¢ 9 distinct pricmes. Recell de=it K(P(n)‘, ‘el")=((’“)(7*')

CPoi om H Je = Y1 amod n=pgq

d
D M e';‘.)‘1 mod O $inCa. 35 (H,P)>i.
than both 31&( and H ave Csmgvvw o 0
mod -? and Q‘{)?) =.’l/ wa hawe

hAQ - ”Hk(p-ﬂ(q-l) - “ {HP-‘ kﬁ-'{: Yol pad €

2) Sim‘.@o.reé nde = N med 9

3) 50 P div hde—n ;9 diy hda- n Ha.re.}wg
“Aq_” = 9k=‘1‘1 -39{ some h, k e
¢ v gh (p,q)=4L So ediv h,

de
Wl-N = 'S5 Some S € Z
'I'\n.re.a-ore 9 \?/‘:/ §ov  SoMm

end H =X mod 3_?-‘:0
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J):(\C?G; F:SI )q= 1SL
e~ &5 ¢ (n)= 30156 = 4630
| d =

(\500 >en<§ BYE

835)

3¢ 1§ 7 Z\li £51 rmod (FEF

851 = 51 +25¢+ 66+ 1 x2+)

113 25 3035 ALL CoHPpUTATION
!qu = (3Q 35)L = 286) Yod 4§67

n 32 = @8el)" = 3344

w3'e = 253

y3% = 989

1113‘15.25— (t.;(lff? 851

[‘lgm____ Ny 13 mod 4867 2|73y

Uy 't 2 0340
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Now Gmoute 414 mod (I E7F
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600 en & 1134 5009

Recaiwr Ce(\m?u,\‘e.s '1?:}((11 mod &F6 1
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